A-A
o o 5.
9 o, e
CORE LENGTH 271

OIL CONNECTION JIC-6
OIL CONNECTION JIC-10

Q} Laminova

Heat Exchanger Systems

OIL COOLER

— @
0 a s
2 3
275,6
79
345,6
P R
® 00 | 0 © ®
19 2 |GASKET SL00081C EC54
18 2 |WATER CONNECTION WCO00177A EC54 ¢35
-——-1TrT - - - - - - - - 1T 17 2 |GASKET SL00101B EC54 SPECIAL COMBINED UNIT
f 16 2 | OIL CONNECTION OCO00070A EC 54 JIC 10
15 2 | OIL CONNECTION OCO00079A JIC6
A o @ O] ® @ o o 14 8 |[SCREW TB00267A ISO 7380 KTS 8.8 FZB M6x12
' ' 13 2 |O-RING SLO0039A 18,77x1,78 FPM
12 2 |O-RING SLO0083A 226,7x1,78 FPM
11 2 ISO 4762 - M6 x 30 Hexagon Socket Head Cap Screw
10 4 ISO 4762 - M6 x 12 Hexagon Socket Head Cap Screw
9 2 ISO 4762 - M6x110 Hexagon Socket Head Cap Screw
6 ISO 4762 - M6 x 20 Hexagon Socket Head Cap Screw
2 |O-RING SLO0084A 44,2x3 HNBR
2 BRACKET TB00191C
1 HOUSING HS00160A EC54-80 Combined unit
1 MEDIUM PLATE TB00190C
1 O-RING SLO0067A 246x4 FPM
1 CORE ASSEMBLY CAO00036A D54-271 Combined
1 HOUSING HS00164A EC54-168 Combined unit
REQD TITLE PART NUMBER DESCRIPTION
CONSTR DRAWNBY | CHECKED TITLE SCALE DATE
Mattias 1:2A2 | 2010-01-22

,FZI\EVISION g @

DESCRIPTION

ECD54-271 Combined Special

MATERIAL

DRAWING NO

SAOOA1f56A

2



